BS.5... SINGLE STATION SUBPLATE

BS.5.01...
BS. %. 01
Single subplate (blanking) | |
CETOP 5/NG10 P e
01 P/T/A/B closed
CETOP 5 SUBPLATES
BS.5.01/BS.5.0 Cn. VIl pace 19 No variant
BS.5.12... / BS5.13...
BS.5.14... | BS.5.15... Serial No.
CH. VIl pacE 20
BS.5.16... / BS.5.17...
BS.5.3... CH. VIl pAGE 21 *Pay Iatter_ltion pll_eas_e, usethlese ©10.5
BS.5.30/31 Ch Vil Pace 22 subplatein applications at slow | |
pressure (P max. 150 bar 1 T
BS.VMP.20... / BS.5.29... dynamic) @1—|*H LT S |
CH. VII pAGE 23 ¥ \ e e \!
. LN
BC.5.36/28... CH. VIl pacE 24 ® ~
BC.5.41/*... / BC.5.40... -
CH. VIl pacE 25 @ _IP @
BC.5.30/32... / BC.5.50... / BC.5.51... NE—
~ |~ I
CH. VIl pAGE 26 A || |<B
o [T I I N R ©
BC.5.07... /BC.5.107... ~ TN <o T <
BC.5.3A... / BC.10.06... A N I
CH. VIl pPAGE 27 ! @
BM.5.**._. / BM.5.50...
CH. VIl pAGE 28 5y
BM.5.60... / BM.5.70... it = oy
BM.5.80... CH. Vil pace 29 | Veight: 0.5Kg
Fixing screws
M6x15 UNI 5931
CMP.20... CH. V paGE 20 K = plate OR (Q25.95.0002)
CMP.30... CH. V pPAGE 21
BS.5.%*...
BS. . 02 BS. x. 06
( Bs ) | single subplate (blanking) \ | Hj—‘
CETOP 5/NG10 | e || I e |
02/03/04/05/06/07/08/09 e R
. 210.5 ! ! ! |
No variant | | LT frr | H*I I \
P T B A
. T T
Serial No. " ‘!‘ | ‘!‘ o BS. %. 04 BS. %. 08
o ! b ! \ | |
I i I I I I
| | | R O oy O
26.5 \OR 2-014/90 P T 8 a F T & n
iP BS. Xx. 05 174" BS. .09
o - © | o |
4_(,,‘}_', I I I I
M\\T@\B “ ] (R
’9 T/\H‘)H‘)/*i\'r g P T B A P T B A
et RS H
& B
‘ =
\
= 4 =
90
Weight: 1,2 Kg
Fixing screws M6x35 UNI 5931
File: EBS5001 Vil e 19 01/2000/e



BS.5... SINGLE STATION SUBPLATE

BS.5.12 (REAR CONNECTORS)

3/4" BSP
rear connectors

No variant

Serial No.

.' 'E .n—\ .' .UJ
[l W [3;]

125
105
96

100 —
Single subplate B s 50 ‘ ‘
, ¢ 5 T P T B A
CETOP 5/NG10 i o | s 4
1/2" BSP )y @
rear connectors M g’ 3 gzp
No variant 3 Lo ‘
Sp
seria No. 1 ¢@' +
Weight: 2,7 Kg - Fixing screws M6x25 UNI 5931
BS.5.13 (REAR CONNECTORS)
100 ‘ — ‘
S Single subplate = o . 15 s | |
46 42 v g 8
il il ‘ T ‘ P T B A ‘
CETOP 5/NG10 o } N 7%:{%2 Q} . {}\

6,

|
e

Weight: 3,8 Kg - Fixing screws M6x50 UNI 5931

BS.5.14 (SIDE CONNECTORS)

Single subplate e - _ =
_ 48 112 " l B 18
CETOP 5/NG10 : £ vE
CYIET =
12 Bsp ST
side connectors \ ) Mi %ﬁxr a o
. ol i) ' F:TPA\{E} N )
No variant deda1 T T
k=t ﬁt} —t:
Serial No. e e
I RPN 1Y
@1 11T © +f 7
Weight: 2,6 Kg - Fixing screws M6x20 UNI 5931
BS.5.15 (SIDE CONNECTORS)
100 -
Single subplate —— o P!—‘ \—‘ﬁ
_ 46 _ 42 " T _ B
CETOP 5/NG10 7 = 92
o b ©) ==
3/4" BSP S
side connectors u & o
. wl vl o Fii\ipﬁ.\{} 7\771
No variant gefa o e
T S SR ! B
Serial No. ” %iﬁ#*
AEREEH .
& [44J 4@*
Weight: 3,8 Kg - Fixing screws M6x50 UNI 5931
File: EBS5001 Vil e 20 01/2000/e



BS.5... SINGLE STATION SUBPLATE

aron.

BS.5.16 (coNNECTORS SIDE A AND B, REAR P AND T)

Single subplate
CETOP 5/NG10 100 w2
_ 80 _ 20
1/2" BSP 72 T e
rear and side connectors —— »% e =
(A ~ [ ! e
No variant a® | : | © i:;‘ | -
F = ‘ T
i I —— < {} 1
Serial No. 1 B . G} ] % H
deld s AN i
S 91 o ) - W L s n
Weight: 2,6 Kg ! L P
Fixing screws M6x20 UNI 5931 !

BS.5.17 (coNNECTORS SIDE A AND B, REAR P AND T)

Single subplate

CETOP 5/NG10 Lo o

17 3/4" BSP 72 B 42
rear and side connectors 46 25 )

50

26.
210.5
o

No variant /@ *é}\

o
|
O
(=]
|
-~
0

|
Serial No. \ B &

Weight: 3,9 Kg il v Eb
- A

Fixing screws
M6x50 UNI 5931 N

125

105
[S]

4 =
N
¥

T
ﬁw

&

ﬁ}

=
T

S
u

BS.5.3 (repucTioN PLATE FROM CETOP 5/NG10 TO CETOP 3/NG6)

P A B T
Single subplate T
|
CETOP 5/NG10 39.5 s |
245 32 32.5 e E hT
CETOP 3/NG6 155 21 21
No variant ey ﬁ oy i el I A Iz
O O SR ©) &
T ‘ o ,]'\ () o~ Il
Serial No. D) S S B:) o "
_L P B I (S = AN y@ﬁ*\ w7 ] o
@ ST &”‘ S N e 1 I
B Il | ﬁ\ / a Il
Weight: 1,1 Kg Pan) 3; A B el I o — 7 !
© © e S5 ©
Fixing screws
M6x30 UNI 5931 N
File: EBS5001 Viie 21 01/2000/e




BS.5... SINGLE STATION SUBPLATE ron

BS.5.30/31
Single subplat i
B ingle subplate N
Q Q\J
CETOP 5/NG10 ro-
M |
30 = Connectors A and B side, P and T rear (all 3/4" BSP) @ BS.5.30...
31 = Connectors A and B side, P and T rear (all 3/4" BSP) 5 ! :
M = Plastic knob
C = Grub screw P o B T
Setting range gj\—r
1 = max. 50 bar (white spring) I
2 = max. 140 bar (yellow spring) I e
3 = max. 350 bar (green spring) | r |
M |
No variant @
| BS.5.31...
: '

Serial No.

* The minimum permissible setting pressure depending on the spring:
see cartridge valve type CMP.30...

BS.5.30 (conNECTORS A AND B siDE, P AND T REAR)

8 80 8
48 48 ol 96
L/ 4”BSP = 48
"r Mw" )
Q- —1+— - © .
[ Q
= = " P = K
al [ { A0 Lile
| L) R [
S e r =4 9 N
T 7
LD|
| ¢ Y. —0— Y
6% o i
o & - - ]
CH. 27 — " N
% ~T|
[Ta] X|
|
X| E| L
e X s
€ CH. 17 o
Weight: 5,5 Kg
Fixing screws e c ch-® "
M6x75 UNI 5931
BS.5.31 (connECTORS A AND B sIDE, P AND T SIDE AND REAR)
234.5 c M
Ch.
Ln| CH. 17
4 L 5 ©
€ CH. 27 €] UN
1o - - ©
2 :(wﬂ o &
F=—- & = M v N
sl | 1) v ST | | N
T = — [ | | —
. — = = A M
T gy .
S P -1 g 2 3
S T @H—ﬁ °
- T 1 == 5
Al E¥: — I|P — —
| I R © © "
Ll I i s :
@+ -© © R b
LM o
29 ‘ 68 2 68
8.5 80 8.5 26.5 47 23.5

Weight: 6,7 Kg - Fixing screws M6x75 UNI 5931

File: EBS5001 Vil e 22 01/2000/e



BS.5... SINGLE STATION SUBPLATE ron

BS.VMP.20 SINGLE STATION SUBPLATE WITH MAX. PRESSURE VALVE FOR SURFACE MOUNTING (E.G. ON TANK COVER)

10 80
Single subplate s o
CH. 22
)] cH. 24 max. 71
VMP Max. pressure valve A =
" M P
oo | /h AR - —

L[

N
o

1/2" BSP connectors

M = Plastic knob
C = Grub screw . -
V = Handwheel max. 177

)
&)
béb
O
2
5

Settlng range 21 45 max. 110.5
1 = max. 50 bar (white spring) P T
2 = max. 140 bar (yellow spring) o !

3 = max. 250 bar (green spring)

35
|
|
|
|

53
é T i:
A S
C )
|
<
250

174"

No variant ﬂ P T
. [ //5'@ I_P_ ; T
Serial No. 8.5 %
213.5
Weight: 3,1 Kg * The minimum permissible setting pressure depending on the spring:
Fixing screws M8x65 UNI 5931 see cartridge valve type CMP.20...

BS.5.29 SINGLE STATION SUBPLATE WITH MAX. PRESSURE VALVE FOR AD.5.1...

BS Single subplate P a B T
((Bs ) | single subp T
CETOP 5/ING10 S Ea b
1/2" BSP - P rear connector T 1727 Bse| B M i T
1/2" BSP - A and B side connectors N §‘
1/2" BSP - T rear connector _J/ - P T
3/4" BSP - T side connector H P M
; =11
Type of adjustment =] I-% *J/ -
Grub screw Q} N
Setting range
. 28 34 48
2 = max. 150 bar (yellow spring)
3 = max. 320 bar (green spring)
- . 1/2" BSP
m No variant
Serial No. o
= O
[€o)
(e
[QV)
Weight: 4,5 Kg
Fixing screws M6x60 UNI 5931 45 43 22
Tightening torque CMP.10... 90 10 . ‘ co o
60 + 70 Nm /6 + 7 Kgm M N"2 Forie7 =
CH.5— CH.21l =
M = Manometer connector (1/4" BSP) © © —r
0 F ?\ N f\
CMP10 % ﬁ % ©
«©
CH. 1|7 - =L %/*@% 2 S M
4 o
_ \U
I | o % ©
A ﬁ il . j\ N v T
b L 1 ) [ 1 )
(@)
MAX. 58 110 - / 2g_|_ 32

3/47 BSP

File: EBS5001 Vil e 23 01/2000/e



